PEARSON

Algaor:

Additional Examples

QEZEDD ity /223,

OBJECTIVE

/243 = 1/81+3 81 is a perfect square and a factor of 243.
= V8113 Use the Multiplication Property of Square Roots.
= 9V3 Simplify \/81.




PEARSON

Algaor:

Additional Examples

D 2imirs Simplify V/28x7.

OBJECTIVE

\V/28x7 = \/4x8 « Tx 4x8 is a perfect square and a factor of 28x”.

=1/4x8+1/7x  Use the Multiplication Property of Square Roots.

= 2x3\/7x Simplify \/4x®.




OBJECTIVE

Additional Examples

PEARSON

Algaor:

m Simplify each radical expression.

Use the Multiplication Property of
Square Roots.

Simplify under the radical.

64 is a perfect square and a factor of 384.

Use the Multiplication Property of
Square Roots.

Simplify \/64.




PEARSON

Algaor:

Additional Examples

@EZED (continued)

b. 7V/5x * 3V/8x

7V/5x *+ 31/8x =21\ 40x2 Multiply the whole numbers and
use the Multiplication Property of
Square Roots.

OBJECTIVE

=21V 4x2 + 10 4x? is a perfect square and a
factor of 40x2.

= 21\/4x? *\/10 Use the Multiplication Property of
Square Roots.

=21+ 2x\/10 Simplify \/4x2.

= 42x V10 Simplify.




PEARSON

AlgenTan

Additional Examples

OBJECTIVE

m Suppose you are looking out a fourth floor window 52 ft above
the ground. Use the formula d =\/1.5h to estimate the distance you
can see to the horizon. Round your answer to the nearest mile.

d = \/1.5h

=V 1552 Substitute 52 for h.
=78 Multiply.
= 8.83176 Use a calculator.

To the nearest mile, the distance you can see is 9 miles.




PEARSON

Algaor:

Additional Examples

m Simplify each radical expression.
13
2 Vea

OBJECTIVE

(15—2 = \\;_é:i Use the Division Property of Square Roots.
= \/—813 Simplify V64.
b.\/ %%
\/i? = \\f‘% Use the Division Property of Square Roots.
= 5 Simplify V49 and /X%




PEARSON

Algaor:

Additional Examples

m Simplify each radical expression.

OBJECTIVE

120
2.\ o
120 - 12 Divide.
10
=\V4 3 4 is a perfect square and a factor of 12.
=\/4 \/3 Use the Multiplication Property of Square Roots.

=23 Simplify \/4.




OBJECTIVE

Additional Examples

QEZED (continued)

75x°
"~V 48x
A/ 75X°_ 4 /25x4
48x ~ V 16
\/25x4
= /16
_\V25/x4
T \/16
5x2

PEARSON

Algaor:

Divide the numerator and denominator by 3x.

Use the Division Property of Square Roots.

Use the Multiplication Property of
Square Roots.

Simplify V25, Vx4, and V16.




PEARSON

Algaor:

Additional Examples

OBJECTIVE

Simplify the radical expression.

3
7
3 = 3. \/Z Multiply by V7. to make the denominator a
VT VT VT VT
perfect square.
_ 3V7 o
= s Use the Multiplication Property of Square Roots.
= 3V7 Simplify \/49.




PEARSON

Algaor:

Additional Examples
OBJECTIVE

(continued)

Simplify the radical expression.

b Vil
V12x3
Vil -Vl V3x : V3 :
= . Multiply by Y=X_to make the denominator a
V12x3 V12x3  V3X Py by \/3x
perfect square.
V L
= \/22; Use the Multiplication Property of Square Roots.
- V3ax Simplify V36x4.

6x2




